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Topic:- Child Development & Pedagogy (CDP)

1) The two main motivation categories of needs are . | ATAAHdT DI | 8T W& Ao
gl

1. reward based and fear-based / Uicgrea 3MaTRa 3R 97 3maTRa

2. intrinsic and reward based / 37TdRe 3R Uicdrea 3maTRd

3. intrinsic and extrinsic / 3TdRe 3T @

4. extrinsic and fear-based / &l 3R 9= 3maTRG

Correct Answer :-

« intrinsic and extrinsic / 3TdReé 31 &

2) stage is termed as ‘Questioning;Age’ as.Well.as ‘Gang Age’. / TaTAT HY
Faeafaer ¢ & Fr-ary A ¥ ot el e g

1. Adolescence / foheIR

2. Adulthood / STEH

3. Early Childhood / URTFHG FaU
4, Later Childhood / U%I U<

Correct Answer :-

o Later Childhood / T U

3) Applied behavior analysis (ABA) is used to help children with which of the following
conditions? / 3TIYFA qeR favawor (v.dl.w.) &1 gAver g=al fr Arafaf@a & & ey Pufa &

ASE A & v fFIT FATar 872
1. Attentional deficit disorder / <ITATHTT fIhR (32l BhRAC Ba3E)

2. Dyslexia / U Toaedl AT (BEaifoaan)

addazyT addazyi
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3. Autism / EIAdT (3ifesH)

4. Dyspraxia / fq@d=ad dwey (FTaviear)

Correct Answer :-

« Autism / TIIAdT (3ifesa)

4) Mnemonics is a technique. / Fﬂﬁ'ﬁ?ﬂﬂ' T TJFAIF B
1. Reading / UToed

2. Writing / oT@eT

3. Evaluating / ?ECI'I?-F[
4. Memorizing / g IWGAT

Correct Answer :-

« Memorizing / ITg IEAT

5) What is the term used by Vygotsky to describe the type of role that parents and teachers have in a

child’s development? / & e & fasra ¥ iRl 3y REmRie, @ sffs &1 avir F3 & faw
aTZAcHeh! GART fhe Ug T 39ANT AT Ime?

1. Scissoring /& d_gur (R
2. Scaffolding / TTATISIh Tl (ThHITes)
3. Lecturing / <&l

4. Teaching , fRU870T

Correct Answer :-

« Scaffolding / TTHATSIG TEIAT (FhBITesdT)

6) What is the term used to describe the typical, highly representational example of a particular
concept? / T Ry auron & fafdrse, 359 AT are 3ERIOT FT Ui F F v fFE g =7
3qghT fRaT STar €2

1. Heuristic / 3{HAT
2. Symbol / Hhd
3. Prototype / WiCIersa



4. Premise / URER (WfAH)

Correct Answer :-

« Prototype / WICCIZT

7) What type of questions would likely measure abstract reasoning in an intelligence test? / Tsh gajﬁ-nm
qdieTor # R UHR & oAl & AT dF F AN HY FHTEAT 87

1. Comprehension / &¢I
2. Matrix reasoning / Hf¢eFq dh
3. Synonyms / THATAE e

4, Similarities / THTAQTT

Correct Answer :-
e Similarities / TATAATT

8) What are tests that taken into account the environment in which a child learns called? /

W FiT @ qdieror § S 37 ARl B SO # (@a §© HEH Th goar e w82
1. Accuracy tests / GRR[EdT TLI&ToT

2. Power tests / &THAT UIT&T0T

3. Culture fair tests / HEPId TATTET TIETOT

4. Speed tests / afa adreror

Correct Answer :-

o Culture fair tests / W‘v_f{»% facger gdreqor

9) What from the following options constitute language and thought together?/ fAFafaf@a Rweul & ¥
smaT 3R AR e @ T aEd §?

1. Spatial thinking/ ¥2Tfaed Ride
2. Logical thinking/ a& e
3. Visual thinking/ T f&ida

4. Verbal thinking/ #f&® iaa

Correct Answer :-

e Verbal thinking/ #lf&® RKida



10) To do well as a financier, one should have: / T BISAET & T H HTOT FA & fow, Fdt &
9 T aIfge:

1. Musical intelligence/ TN g%'

2. Kinesthetic intelligence/ I gfg (Prsaiedfesd sefeeid)
3. Spatial intelligence / faW g (FAF&Ter seforeid)

4. Logical intelligence/ dTfehen g@'

Correct Answer :-

o Logical intelligence/ arfpen g@'

11) An investigator doing laboratory experiments and gathering data comes under: / U& 3=d¥e&
YARTRITET & YWY FT FA|T THIAT FIT o I8 fFad Aaea rar 32

1. primary data/ GTIfHe® 37Tds
2. final data/ 3ifQ9T 377

3. tertiary data/ Q?ﬁ'qiﬁ Hidps
4. secondary data/ o 3ThS

Correct Answer :-

« primary data/ UTTHE® 373

12) Human development is a process. / G RAFT TR gfsrar gl

1. Sporadic / 3cTaTEAd (TARTSH)

2. Random / Irsfesd (Y5H)

3. Cumulative / <Y (FgAelTea)
4. Intermittent / AR (FeXTHET)

Correct Answer :-

« Cumulative / T (FgHeITed)

13) Which of the following is NOT the benefit of active learning? / RF=ifaf@a & ¥ *la-ur afry
I F1 AT AE 2

1. Develops Collaborative skills / G&TIMcHb Pl ARRAT BT



2. Home work / U]}’C-Eﬁl?j' (1 Th)
3. Improves critical thinking / ATelIdellcdd AT PN ddX dellell
4. Encourages risk taking / SNT&H ol Pl WcATed e

Correct Answer :-

» Home work / UE-EFR? (8197 k)

14) Which of the following is not an aspect of learning? / fAFAfaf@a & ¥ la-ar JfIF F1
Ygel oTel 872

1. Biological preprogramming / Sifads SgTamfaaT
2. Permanence / Ta1RIca
3. Behavioural change / <ddeR uRade

4. Experience / 3JHd

Correct Answer :-

« Biological preprogramming / Sifde toranfaier

15) In order to avoid punishment, it is always better to obey thelrules. This kind of acceptance is seen in
which of the following stages of moral development? / FaIT & Sga & forw, AgAT &1 qrelel FIAT gL
dFR ghar 71 Peafef@a #§ @ e o # AfeF T & g9 #&F F dwr Jmar 82

1. Postconventional morality/ U9T URUR® =ATddhdr

2. Transcendental morality/ URclifches Afddhdl (CTedscal ARITET)
3. Conventional morality/ URUR@® Afdadr
4. Preconventional morality / qd URuURe& afdedar

Correct Answer :-

« Preconventional morality / & URURe =Afderdr

16) If a child loses weight rapidly and does not seem to eat throughout the day, what disorder might s/he

bediagnosedwith?/'ﬂﬁ'Wmﬂﬁﬁmﬂﬁmgwﬁﬁmﬁﬂﬁm&?ﬁ
3WA HIA-A1 RER =T AT FhaT 8§72

1. Obesity / HITAT
2. Anorexia nervosa / UaRT&rgAT i@l
3. Tic disorder / e TR



4, Insomnia / 37T

Correct Answer :-

e Anorexia nervosa / UARTGGAT FAdrdT

17) A Neo-Freudian, whose ideas on child development had a major influence, was | T 1g-

wrAfEae, foe® ganT arar e w e v =Rt &1 vF 931 e an, 3 |
1. Erik Erikson / URe TReFdd

2. Jean Piaget / S fOma

3. Carl Rogers / @Tel JsTH

4. Carl Jung / @&Tel gt

Correct Answer :-

e Erik Erikson / TR& tRaaa

18) Who describes mesosystem for how the different parts of a child’s microsystem work together for

the scale of the child? / fFdar fAERITeA F aftta Far & FE TF@R o= & AHRAEAT F
AT 99T T §1T 9= & T&Hd F v FF Fa 82

1. Erikson/ 3Redel
2. Piaget/ TUaTSl

3. Vygotsky/ AT cEeh]
4. Bronfenbrenner’s / slicTtheTelleeld

Correct Answer :-

« Bronfenbrenner’s / siiaTtheTelleely

19) Who first used the term “Self-actualization” to describe completion and unity?/ fFaa qotar ik
TEHAT & qUIT Fa1 & fAT Fa@ gga "3eq (g earsg &1 y23er fFar ar?

1. Alfred Adler/ 37e%hs TSR
2. Abraham Harold Maslow/ 37§T&d &les ATl
3. Karen Horney/ @l @il

4. Carl Jung/ @Tel ST

Correct Answer :-



o Abraham Harold Maslow/ 3T6TedH Ies HATEA!

20) The term SLD in children’s mental health denotes for: / a=af & AAAF TIELT H THTAS e FT
I

1. Self- Learning Direction. / Heh—clTeldT STAXFAA

2. Special Learning Direction / TUST dIfeiaT SRR

3. Specific Learning Disorder / TUTAfhe aifcter B3R

4. Symptoms of Learning Disorder. / fFuesg 3T dfeier B3R

Correct Answer :-

« Specific Learning Disorder / TUfafre a1feter Ba3iET

21) The perception of a situation as a ‘whole’ gives a better understanding than the sum total of its parts
and makes the occurrence of insight possible. Which learning has this as its basis? / ’Ii'q‘?'i" ™ H TR
Rufy i grom 3 Rl & Tt 77 dgay A & § 3R Al A gear Fr g T 7| M0
1 Py Qe F sHFT IUR AGT AT 8?7

1. Trial and Error Learning / G{1&701 3R e 3Af&TH
2. Learning by Insight / 3id<f® & sneas & 3ifem
3. Learning by Imitation / 3{eehi0T & HICIH & JRIIH

4. Learning by Experience / 3¥e & ATCTH W SIH

Correct Answer :-

o Learning by Insight / 3asf¥ & AT & HA9TA

22) The child will be able to use proper sentences by the age of: / s=aT a1 37 ¥ 3T ardt Fr
YA HT qIA:

1. Five years / O ag
2. Four years / TR ay
3. Three years / dlel ay

4. Six years / ©: a§

Correct Answer :-

o Three years / ol ay



23) The rules of presenting the content to make them easy are called J |l FY A I e
¥ v s g #@ & At # &gl ST 1

1. Maxims of teaching / T80T &1 Rargia
2. Techniques of teaching / T&TOT Hr deheileh
3. Methods of teaching / fiayor hr fafer

4. Teaching strategies / fU&70T TuTifa

Correct Answer :-

 Maxims of teaching / f&ToT &1 &g

24) Proximodistal means: / WHT ¥ ¥ (NFdIAIETee) F71 34 8
1. Centre to periphery / deg & TRTY T (Vee ¢ ARH)

2. General to specific / GTHTT & AT d (S ¢ TUlATha)
3. Head to toe / RR AW F 39S T (83 ¢ V)

4. Simple to complex / Il & Sifear da (FRFuer ¢ HFcedd)

Correct Answer :-

o Centre to periphery / g, ¥ TR g (Heel [ IR)

25) Teachers should overall have attitude towards inclusive education. /

&1 Y THI T F AT f8T01 F yfey AT TEGT AR T

1. Positive / GbhRTcHh
2. Negative / ADhRTcHD
3. Different / QUch

4. Neutral / TsTey

Correct Answer :-

e Positive / GDhRTcHh

26) Social construction of gender describes gender as: / foeT &1 TTATTSI® fAATOT forer &1 gofer
aﬂ?ﬂ%:

1. Personal opinion of their biological sex. / fd@ fofiT & SR T I cafadird 4|



2. The behaviors and characteristics based on the biological sexes. /G\iaiﬁ foI9T b 3TTUR U qdo
3R fauarT |

3. A person is biologically male or female or intersex. / Tdh =g Sifde &0 ﬁwzﬁ Afgar AT
SAFTEAT & |

4. A social identity with characteristics placed by society for each biological sex. / Y& i foit & forw
AT GRT §18 75 faRwarst & 91y U IrHmfore ugam |

Correct Answer :-

« A social identity with characteristics placed by society for each biological sex. / Y& S foiT & forw
TS §RT 915 T3 [ARISarsil & 91 U AT ugar |

27) What are the three components of the educational process? / df&/w ufpar & i ges Fa1 &2
1. Teacher, Student and Education /fQT&FF, o1 3R e

2. Teaching, Learning and Practice/fQT&‘ﬂUT, 37T 3R 3

3. Education ,Teacher and Books / fﬂ&ﬂ, TR 3R W

4, Direction, Instruction and Skill /%QIT, Hﬁ?{QT 3t Plerer

Correct Answer :-

e Teacher, Student and Education /fﬂ?ﬂfﬁ, o 3 fe

28) A teacher who pressurizes his/her student to take his/her private tuition
lacks in which of the following code of professional ethics? / T®h e CIRC L
B I it eg=M a1 & T gara saar/ sradt 8, Fafafed d 9 sud aaaiie
Afawar it fea sifgar @1 vt 32

1. Attitude towards students / &T31 &b Ufa 3TfHgQ

2. Attitude towards colleagues /H’(—‘Eﬁﬁ'ﬂ’ﬁ?ﬁ 3@7{%
3. Attitude towards society / HHTS & Uid JTfHIT

4. Attitude towards profession /W*ﬁm

Correct Answer :-

« Attitude towards profession /Wa?qﬁ}lﬁ_c[ﬁ

29) Kohlberg’s theory dealt with: / Figeeet & RgHid & Fafod ¢



1. Morality / ATdedr
2. Perception / RO

3. Cognition /3-173’3@

4. Interaction / &

Correct Answer :-

« Morality / AfQehar

30) Which of the following is the most effective way to create interest for learning in a student? /

frrfaf@a # @ w1 Rl o & 3feE & v 3R 31 S F1 Fa@ o adar 7= @2
1. Show relevance to their future / 37ch HfasT & forw grafdrear few@rar

2. Activity based learning / ITfafafd 3maiRa sreaas

3. Theory supported learning / TG 3MUTRT 31T

4. Teacher centered approach for learning/ 39T & fordr 3reaue sraiRa gfafy

Correct Answer :-

« Show relevance to their future / 3a7cp HIsT & ToIT UrARIhdT @

Topic:- General Hindi (L1GH)

1) |reft g1y T, A1 BTy S T

TS BT YP AT e HR dgt IoT
GIRIUEE ]

B9 Agdardl A o Wi fraer ®e Jern
AR A 71 BIST ydd A i gepran

T 9Tg df Ual I &, TgHI § I3,
It g1y T

AETd Ut A B ¥@T WgTd & T ST
F I Bt WIfAR B 3G YT WIfeR H=AT
3T g ot v § At oo g oft v
St wioTe T &Y Gfore ST v A,



areft g1y FErT

TS ¥ TH Al df SavT 99 1A @ gian

TP ¥ U A & wRE o e @ S

TP | U A ot IS 97 Fobar ¢ udd

TF ¥ U@ a5 99 § ) o forwa,
It g1y T

A1E | 59 ard fFAeTd wiedt g o |
WMigogagFAI AT ST gAR 9 A

F9 9P AgTd & W1 A A read B wioie

BTY TSI DI A (U HUAT B aediy, | ...
ST UL ®) UgH 9 [P WM ard U= $T I} Tarsy|
U TP & TP 1 A a1 gRar o o1 82
1. UgIS

2. G

3. Pl

4. 7

Correct Answer :-

2) Ireft g1Y g, AT g1y derT

TS BT YP AT e B dgt IoT0
areft g1y FET

B9 Agdaral A o Wi frdex ®ed sern
AR A T BIST ydd A i gepran

T 975 o Ual I &, IgHI 8 I3,
It g1y T

AeTd Ut A B ¥@T AgTd & T ST
F I Bt WA B 3G U WIFeR H=AT
AT g9 Wt Tw § At oo g oft T
3t wfSrer = Y Afere SrueT T A,



areft g1y e

TS ¥ TS Al At SavT 99 A @ gian

TP ¥ U A o wRE o e @ Sew

TP | U i ot IS o7 Fobar § udd

TH ¥ U fd dt 59 99 | ) o forwa,
It g1y T

A1E | 59 ara fFAeTd [t g o |

WMpo ga g A T ST gAR 9 A

F9 dP Head S W1 A I grard i woils

BTY TSI DI A (U HUAT B awdiy, | ...
ST UL ®) UgH 4 [P WM ard U= BT I} Tarsy|
R fHad area @ ggHl A A 91 §) Al 82
1.g=dl &

2. fraTEt &

3. AR &

4. AFATDA FAII e

Correct Answer :-

o ATATDA Hsigdl

3) Y g1y FgrI, At 81y S

TS BT YP AT e R dgt IoT0
areft g1y e

B9 Agdardl A o Wi fraex ®ed Tern
AR A 71 BIST udd A i gepran

T 976 df Ual I &, TgHI § I3,
It g1y T

AeTd Ut A B ¥@T AgTd & T ST
F I Bt WIfAR B 3G YT WIFeR H=AT
AT g9 Wt Tw § At srue g oft T
3+t wforer = Y Afre SrueT T A,



areft g1y e

TS ¥ TS Al At SavT 99 A @ gian

TP ¥ U A o wRE o e @ Sew

TP | U i ot IS o7 Fobar § udd

TH ¥ U fd dt 59 99 | ) o forwa,
It g1y T

A1E | 59 ara fFAeTd [t g o |

WMpo ga g A T ST gAR 9 A

F9 9P AgTd & W1 A A read B wioie

BTY TSI DI A (U HUAT B awdiy, | ...
ST UL ®) UgH 4 [P WM ard U= BT I} Tarsy|
UR: Bfa A IRR F 51 3 31 Biard} war 2
1. a6 3R e

2. Q1 3T

3.6 W

4. @ AR 9l

Correct Answer :-

4) It g1y eI, It g1y ST

TS BT YP AT e R dgt IoT0
areft g1y e

B9 Agdardl A o Wi fraex ®ed Tern
AR A 71 BIST udd A i gepran

T 976 df Ual I &, TgHI § I3,
It g1y T

AeTd Ut A B ¥@T AgTd & T ST
F I Bt WIfAR B 3G YT WIFeR H=AT
AT g9 Wt Tw § At srue g oft T
3+t wforer = Y Afre SrueT T A,



areft g1y e

TS ¥ TS Al At SavT 99 A @ gian

TP ¥ U A o wRE o e @ Sew

TP | U i ot IS o7 Fobar § udd

7% 9 TH A a5 o9 | ) o fw,
It g1y T

A1E | 59 ara fFAeTd [t g o |

WMpo ga g A T ST gAR 9 A

F9 9P AgTd & W1 A A read B wioie

BTY TSI DI A (U HUAT B awdiy, | ...
ST UL ®) UgH 4 [P WM ard U= BT I} Tarsy|
UYH: TgR Hg-Id I I I A1 swar?

1. {TY GT SHBT aA A

2. Fifh IEr 3@k agq A §

3. Y Y YW1 WSB! G0 A

4, TIPRT UT 3HBI IA el

Correct Answer :-

o TP Jer 39h g A &

5) Y g1 FgrI, At 1Y S

TS BT YP AT e B dgt IoT0
areft g1y e

B9 Agdardl A o Wi frder ®ed sern
AR A T BIST ydd A i gepran

T 975 df Ual I &, IgHI § I3,
It g1y T

AeTd Ut A B ¥@T AgTd & T ST
F I Bt WA B 3G U WIFeR HAT
AT g9 Wt Tw § At srue g oft T
3ot wfSrer = Y Afore SrueT T A,



areft g1y e

TS ¥ TS Al At SavT 99 A @ gian

TP ¥ U A o wRE o e @ Sew

TP | U i ot IS o7 Fobar § udd

TH ¥ U fd dt 59 99 | ) o forwa,
It g1y T

A1E | 59 ara fFAeTd [t g o |

WMpo ga g A T ST gAR 9 A

F9 9P AgTd & W1 A A read B wioie

BTY TSI DI A (U HUAT B awdiy, | ...
ST UL ®) UgH 4 [P WM ard U= BT I} Tarsy|
U $9 Hfaa1 § ‘AgAas3r f$a Fg1 82
1. 3T deal Pl

2. 3T I ASGY A

3. gUET IS TG drel I

4. ATAd el DA dlel ol

Correct Answer :-

6) It g1y g, A1t 1Y ST

TS BT YP AT e R dgt Io0
areft g1y g

B9 Agdardl A o Wi fraex ®ed sern
AR A T BIST udd A i gepran

T 976 df Ual I &, TgHI § I3,
It g1y T

AeTd Ut A B ¥@T Ag-Td & T ST
F I Bt WIfAR B 3G U WIFeR HAT
AT g9 Wt uw § At srue g oft T
3+t wfSrer = Y Afore SrueT T A,



areft g1y e

TS ¥ TS Al At SavT 99 A @ gian

TP ¥ U A o wRE o e @ Sew

TP | U i ot IS o7 Fobar § udd

7% 9 TH A a5 o9 | ) o fw,

It g1y T

A1E | 59 ara fFAeTd [t g o |

S O §9 g § a1 } S gAR 9@ @

F9 9P AgTd & W1 A A read B wioie

BTY TSI DI A (U HUAT B awdiy, | ...

SUYa Ui $I UgHT T I WA a1 YR P Sk qa1s¢]
UR: $9 Hfaar § A1t | g9 9g P Fe1 G [Hadt SR FART 82
1. Al FolI @

2.31H 3T &

3. 9Tt Holgl |

4, AP A

Correct Answer :-

. HfAPT &

7) et g1y FgrI, 9t 1Y ST

TS BT YP AT e B dgt IoT0
areft g1y g

B9 Agdardl A o Wi frdex ®ed sern
AR A T BIST ydd A i gepran

T 975 df Ual $X &, IgHI 8 I3,
It g1y T

AeTd Ut A B ¥@T WgTd & T ST
F I Bt WA B 3G U WIFeR HAT
AT g| Wt Tw § At srue g oft v
3t HfSrer = Y Afre SrueT T A,



areft g1y e

TS ¥ TS Al At SavT 99 A @ gian

TP ¥ U A o wRE o e @ Sew

TP | U i ot IS o7 Fobar § udd

7% 9 TH A a5 o9 | ) o fw,

It g1y T

A1E | 59 ara fFAeTd [t g o |

S $© 59 giaT & o1 @ o gER w9

F9 9P AgTd & W1 A A read B wioie

BTY TSI DI A (U HUAT B awdiy, | ...

ST UL ®) UgH 4 [P WM ard U= BT I} Tarsy|
UR: TP a4 ST e X 9ig1 ST | FT a1y 82
1.3 & PIE e

2. 9T &l BN W IGAT

3. 3Thel 3G DI eI Bl

4. X ST Toohl el

Correct Answer :-

o 37hol HTGHT DI TIT HLel

8) Wt g1 ST, AT FTY T

TS BT YP AT e B dgt IoT0
areft g1y g

B9 Agdardl A o Wi fraex ®ed sern
AR A 71 BIST udd A i gepran

T 9Tg df Ual I &, IgHI § I3,
It g1y T

AeTd Ut A B ¥@T AgTd & T ST
F I Bt WA B 3G U WIFeR H=AT
AT g9 Wt Tw § At srue g oft v
3t wfSrer = Y Afere SrueT T A,



areft g1y e

TS ¥ TS Al At SavT 99 A @ gian

TP ¥ U A o wRE o e @ Sew

TP | U i ot IS o7 Fobar § udd

7% 9 TH A a5 o9 | ) o fw,

It g1y T

A1E | 59 ara fFAeTd [t g o |

S O §9 g § a1 } S gAR 9@ @

F9 9P AgTd & W1 A A read B wioie

BTY TSI DI A (U HUAT B awdiy, | ...

SUYa Ui $I UgHT T I WA a1 YR P Sk qa1s¢]
UR: U Wi g BT HRIE o T A9 ® frad I $1 91d 31 E 72
1. JHATH AT Y

2. THATH BT A

3. JHTH Wd Hsigy &l

4. ATATDA A SRAATEAT hl

Correct Answer :-

o ATATH 3 SLAATTIIT i

9) a1t g14 Fer™I, It 1Y T

TS BT YP AT e R dgt IoT0
areft g1y g

B9 Agqaral A o Wi fraex ®ed sern
AR A T BIST ydd A i gepran

T 975 df Ual I &, TgHI § I3,
It g1y T

AeTd Ut A B ¥@T WgTd & T ST
F I Bt WIfaR B 3G U WIfeR HAT
AT g9 Wt Tw § At srue g oft T
3+t wfSrer = Y Afere SrueT T A,



areft g1y e

TS ¥ TS Al At SavT 99 A @ gian

TP ¥ U A o wRE o e @ Sew

TP | U i ot IS o7 Fobar § udd

TH ¥ U fd dt 59 99 | ) o forwa,

It g1y T

A1E | 59 ara fFAeTd [t g o |

S O §9 g § a1 } S gAR 9@ @

F9 9P AgTd & W1 A A read B wioie

BTY TSI DI A (U HUAT B awdiy, | ...

SUYa Ui $I UgHT T I WA a1 YR P Sk qa1s¢]
;3T g ft u g Ardft dewk +i3 fha g &t ua qar ¥eT 82
1. 3795 &1 e F T I v Ta MRT-NRT @
2. 49h g@ HAH ©

3. TG UH S THET &

4. 370 AR | & g@ T §

Correct Answer :-

. IS Y e F T T ve TS MPI-ART ®

10) Irft g1Y g, AT gTY derT

TS BT YP AT e B dgt IoT0
areft g1y g

B9 Agdardl A o Wi fraex ®ed sern
AR A T BIST udd A i gepran

T 976 df Ual I &, TgHI § I3,
It g1y T

AeTd Ut A B ¥@T Ag-Td & T ST
F I Bt WIfAR B 3G U WIFeR HAT
AT g9 Wt uw § At srue g oft T
3+t wfSrer = Y Afore SrueT T A,



areft g1y e

TS ¥ TS Al At SavT 99 A @ gian

TP ¥ U A o wRE o e @ Sew
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25) & HIAT F Aig 7 west
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1. AT ATl

2. ACTH drel

3. il e



4. GoldhT dTeT

Correct Answer :-

26) T FIAT & Aig 7ET T

AT g AEE A 3@ Feft Atg A el o AR Aot A AU F AX SER FAGS & o gAA DR o
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TR: HIAT o AT F TG FAT AG A AT AT F?

1. ARTH

2. dig

3. A

4. OrAT

Correct Answer :-
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39YFd AGHIY T IGH AR & AT Fed FT 3ca IdBT
WeeT: 1% & 3HeY T FAr Fel?

1. @rar

2. Bich

3. S[TH
4. gsgat

Correct Answer :-

28) & ... &IAT F ddig Agr 3meI|
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2. 3R



3. 373l
4, feeal

Correct Answer :-

29) o .. FTAT HY oAig F& 3mee
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1. AT AL R T A

2.59H @ PIg ¢

3.9 faet 3R gae A

4. 91d fea 3R 3ned T

Correct Answer :-

o Oad & 3R 3meh Ta &

30) 7 .. FTAT & dig AET 3T
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1 i

2. AYA

3.90 el

4. IMEN

Correct Answer :-

Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

Speeding is a punish-- offence.
1. --ing
2. --ers

3. --able
4. --ingly

Correct Answer :-

2) Fillin the blank with the correct option from those given below:



An enemy that is not seen is an --seen enemy.
1. over--

2. half--

3. un--

4. in--

Correct Answer :-

e un--

3) Read the poem carefully and answer the question given below:

The way a crow
Shook down on me
The dust of snow
From a hemlock tree
Has given my heart
A change of mood
And saved some part

Of a day I had rued.- By Robert Lee Frost

Choose the best statement which reflects the theme of the poem.

1. Winter is the time of the year that makes people gloomy.
2. Being out in the nature can make a person feel better.

3. Pets can bring joy to people who feel lonely.

4, Staying indoors for too long in the cold can be unhealthy.

Correct Answer :-

« Being out in the nature can make a person feel better.

4) Read the poem carefully and answer the question given below:

The way a crow



Shook down on me
The dust of snow
From a hemlock tree
Has given my heart
A change of mood
And saved some part

Of a day I had rued.- By Robert Lee Frost

Where, most likely, do you think the speaker is?

1. In bed
2. In a hospital
3. In a train

4. In a park

Correct Answer :-

5) Read the following passage and answer the question given below:

Your home reflects your tastes, your passions, your likes, and your hobbies. Your home can be bright
and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings, floors,
windows and, if worked upon, these surfaces enhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this huge
demand, the whole industry has responded and blossomed. There is an inexhaustible supply of
books and magazines available on this subject. The literature gives you an idea about adding
permutations and combinations, thus making it easier for amateurs to attempt home improvement
projects on their own without the help of professionals.

Which factor in a house depicts the owner’s personality?
1. Size

2. Brightness, warmth and ventilation

3. Materials

4, Cost

Correct Answer :-

» Brightness, warmth and ventilation



6) Read the following passage and answer the question given below:

Your home reflects your tastes, your passions, your likes, and your hobbies. Your home can be bright
and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings, floors,
windows and, if worked upon, these surfaces enhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this huge
demand, the whole industry has responded and blossomed. There is an inexhaustible supply of
books and magazines available on this subject. The literature gives you an idea about adding
permutations and combinations, thus making it easier for amateurs to attempt home improvement
projects on their own without the help of professionals.

What according to the author is common to all homes?
1. Appearance
2. Structural aspects

3. Garden

4, Environment

Correct Answer :-

 Structural aspects

7) Read the following passage and answer the question given below:

Your home reflects your tastes, your passions;yourlikes,and yourhobbies. Your home can be bright
and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings, floors,
windows and, if worked upon, these surfacesienhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this huge
demand, the whole industry has responded and blossomed. There is an inexhaustible supply of
books and magazines available on this subject. The literature gives you an idea about adding
permutations and combinations, thus making it easier for amateurs to attempt home improvement
projects on their own without the help of professionals.

For house decorations one should take one’s own help because itis _ .
1. more satisfying

2. more efficient

3. a way to try out various combinations

4. cheaper

Correct Answer :-

» away to try out various combinations

8) Read the following passage and answer the question given below:



Your home reflects your tastes, your passions, your likes, and your hobbies. Your home can be bright
and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings, floors,
windows and, if worked upon, these surfaces enhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this huge
demand, the whole industry has responded and blossomed. There is an inexhaustible supply of
books and magazines available on this subject. The literature gives you an idea about adding
permutations and combinations, thus making it easier for amateurs to attempt home improvement
projects on their own without the help of professionals.

Name a source for ideas on home decorations.
1. Interior decorator

2. Hardware shop

3. Books

4. Furniture shop

Correct Answer :-
e Books

9) Choose the appropriate pronouns for the sentence given.

The parents wanted toknow if __ would get a bigger sports field for children.
1. he, his

2. they, their

3. she, her

4. we, our

Correct Answer :-
« they, their

10) Fill in the blank with the correct option in the given sentence:

While shopping don’t be afraid to make a
1. compliance
2. complain

3. complainant



4. complaint

Correct Answer :-
» complaint

11) Which of the following options best combines the following sentences?
Jawaharlal Nehru was the first Prime Minister of India. He was a great writer.
1. Not only was Jawaharlal Nehru a writer so also he was the first Prime Minister of India.
2. Jawaharlal Nehru was the first Prime Minister of India who was a great writer.

3. Jawaharlal Nehru was a great writer who was the first Prime Minister of India.

4. Jawaharlal Nehru, the first Prime Minister of India, was a great writer.

Correct Answer :-

» Jawaharlal Nehru, the first Prime Minister of India, was a great writer.

12) Choose appropriate articles for the given sentence:

teachers had late lunch as their meeting lasted longer than
hour.

1. no article required, an, a
2. The, a, an
3. The, no article required, an

4. A, the, no article required

Correct Answer :-

13) Choose the appropriate option that rewrites the given sentence in its passive voice.

A lesson was being learnt by Saina.

1. Saina was learning a lesson.
2. A lesson was learnt by Saina.

3. Saina had learnt a lesson.



4. Saina is learning lesson.

Correct Answer :-
« Saina was learning a lesson.

14) Choose the appropriate synonym for the highlighted word in the given sentence.

Does he really expect us to believe such a flimsy excuse?
1. naughty

2. funny

3. wild

4. lame

Correct Answer :-

15) Choose the appropriate tenses to fill in the blanks in the given sentence:

Please a noise. Ritu to sleep.
1. not making, tried

2. don't making, tries

3. don't make, is trying

4. make no, has tried

Correct Answer :-

« don't make, is trying

16) Choose the appropriate antonym for the highlighted word in the given sentence.

The family protracted their visit by several days.
1. postponed
2. advanced

3. shortened



4, defied

Correct Answer :-
e shortened

17) Choose the appropriate conjunction for the given sentence:

it rains, the college will declare the holiday.
1. if
2. Though
3. As

4., Because

Correct Answer :-

18) Choose the appropriate prepositions for the given sentence:

My parents have been married forty-nine years, but you,can still see the love
their eyes.

1. since, with
2. with, on
3. for, in

4, for, at

Correct Answer :-

 for, in

19) Choose an appropriate modal for the given sentence:

My doctor said that I stop smoking as one of my lungs got infected.
1. could

2. must



3. might

4. can

Correct Answer :-
e must

20) Choose the right tag:

The passengers lost all their baggage in the planecrash, _ ?
1. weren't they

2. didn't they

3. hadn't they

4. don't they

Correct Answer :-

o didn't they

21) Choose the option that best explains the highlighted expression:
All human beings have feet of clay.

1. to have some ailment

2. to have a defect of character

3. not very powerful

4, are cowards

Correct Answer :-
o to have a defect of character

22) Choose the option that best transforms the sentence into its Indirect form:

‘What country do you come from?’ said the police officer.
1. The police officer said me what country did | came from.
2. The police officer wanted to know what country | am coming from.

3. The police officer asked me what country | came from.



4. The police officer asked me from what country | came from.

Correct Answer :-
» The police officer asked me what country | came from.

23) Choose the option that substitutes the given phrase appropriately.

A work of art made by carving
1. Sculpture

2. Pottery

3. Artisan

4, Artist

Correct Answer :-
e Sculpture

24) Choose the most appropriate determiner for the given sentence.

of what he said was very sensible.
1. A few
2. Many
3. Much

4. Few

Correct Answer :-

e Much

25) Fill in the blank with the most appropriate preposition in the given sentence.
Let’s sit the shade of this beautiful tree.

1. up

2. below

3. under

4, above



Correct Answer :-

e under

26)

Read the poem carefully and answer the question given below:
The way a crow

Shook down on me

The dust of snow

From a hemlock tree

Has given my heart

A change of mood

And saved some part

Of a day I had rued. -By Robert Lee Frost

What does the crow shake down on the speaker?

1. A feel of the weather
2. A bad mood
3. A dust of snow

4. A leaf of the tree

Correct Answer :-

o A dust of snow

27)

Read the poem carefully and answer the question given below:
The way a crow

Shook down on me

The dust of snow

From a hemlock tree

Has given my heart

A change of mood



And saved some part

Of a day I had rued. - By Robert Lee Frost

Choose a statement which concludes the change in the speaker’s mood.
1. The speaker’s mood is the same.

2. The speaker’s mood hasn’t got any better.

3. The speaker’s mood has become worse.

4. The speaker’s mood has become better.

Correct Answer :-

« The speaker’s mood has become better.

28) Change the given statement to reported speech.
They said, "We have completed the presentation.”
1. The said that they have completed the presentation.

2. They said that we have completed the presentation.

w

. They said that they had completed the presentation.

N

. They said that we had completed the presentation.

Correct Answer :-

o They said that they had completed the presentation.

29) Read the sentence carefully and choose the option that has an error in it:

The teacher asked the child to repeat again because he spoke feebly.
1. because he spoke feebly.

2. The teacher asked the child

3. No error

4. to repeat again

Correct Answer :-

e torepeat again



30) Read the sentence carefully and choose the option that has an error in it:

The management’s trusted employee was suspected of stealing large sum of money.
1. was suspected

2. large sum of money.

3. of stealing

4. The management’s trusted employee

Correct Answer :-

e large sum of money.

Topic:- Social Science (SSC)

1) Consider the following statements and identify the right ones.
i. Warm currents bring warm water from polar regions to the equator region.

ii. Cold currents bring cold water from equatorial regions to polar regions.

FafafT sy R R & 3R 98 Fu= t teas &3

i, T URTE, gt &= A YR &3 9@ T4 siel e
ii. SUST YRTY, YAURTY &3 A ¢di &= 9% 71 oidt Ardl g1
1. ii only / ShdeT ii

2.1 only / hdel i

3. None of the statements / 378 & PS5 el
4. Both the statements / m'éﬂ-?f GGG

Correct Answer :-

« None of the statements / s?mfr b=} Zﬁé Tl

2) Who remarked that "We must put an end to planning from above. We must put an end to
priorities being conceived and decided at ethereal heights, far from ground realities"? /

e we1 %, el SUd TR A e $1 ofd ST 911N g 7aTs Sargal W Wi aRafawareit gy,
et R Fruffva &Y 78 wrafiearsit &1 sia = anfgwl”



1. Rajiv Gandhi / Jretta Imefy
2.Shri S. K. Dey /& TH. &.
3. Vinoba Bhave / Taaiar #

4, Medha Patkar / #YT UTEhT

Correct Answer :-
« Rajiv Gandhi / Trefia amefy
3) Who created Indian National Army (INA)? / WIRdd 81T /T (3MSET) 1 forwfor forat fomam ur?

1. Peshwa Bajirao / URTaT dTSIRIA

2. Saiffuddin Kitchlew / Ggra ferae]

3. Madan Lal Dhingra / #G el SIIRT

4. Netaji Subhash Chandra Bose / =iciToit gAY Ig O

Correct Answer :-

« Netaji Subhash Chandra Bose / STl gAY gg arg

4) Which of the following is correct about Indus Valley Civilization? / Rig] a1t ST & fawa &
fFrafafaa & 9 w981 82

i. It had well planned cities / S8 gf-aifora e A1
ii. It had elaborated drainage system / 398 9d fA&Til saawr ot

iii. The most common motif found on Indus Valley seals is unicorn. / f%'[i.{ °Tét Bt ﬂ?ﬁ o IR 9= qrar
T AR EYiH T {7 16T F1aR 3

1. All are correct / T T& &
2. Only ii / &aa ii

3. Only iii / &ad iii
4.0Only i / &ad i

Correct Answer :-

« All are correct / T @& &

5) Which COP (Conference of Parties) resulted in the formulation of the Paris Agreement? /



5 cop (wféal &1 T & ufkomaasy Ui ausha o1 fAafor gam?
1. COP 18
2. COP 21
3.COP 15
4. COP 23

Correct Answer :-

« COP21

6) NITI Aayog standsfor__ ./ ifer smarT (NITI) &1 ﬁr&mm - gl

1. National Institution for Training Information / =RTeTel 3@?\2{?1?[ BR efetar ?Wﬁ?l?f
2. National Institution for Transforming India / SRl W‘\’H BR @ﬂﬁﬁﬂ 3T
3. National Institution for Transition India / AT SEEICYLMA BR CITAAA F{3aAT

4. National Institution for Take India-forward / ARTeTel éﬁ?\'{?lﬂ BR Ch ET%'QT-EFIW?

Correct Answer :-

« National Institution for Transforming India / ARTTel 3'\'7&3\?{2]?-[ B BT f3ar

7)  Match the following:

1. Humayun A. Humayun namah
2. Gulbadan Begum B. Badshah nama
3. Aurangzeb C. Alamgir

4. Abdul Hamid Lahori D. Insan-i- Kamil

TraATefEaT & @ &1

1. Y A. AT ATAT

2. el daTH B. @gamg =TAT
3. 3Nerd C. 3edAR

4. 3ecel §HIG SMBRT D. Sodilel-T-aifFer

1. 1-A,2-B,3-C,4-D

2. 1-A, 2-C,3-D,4-B



3. 1-A,2-C,3-B,4-D
4. 1-D,2-A,3-C,4-B

Correct Answer :-

« 1-D,2-A,3-C/4-B

8) Famous Women ruler Chandbibi of Ahmednagar fought to protect her kingdom against: /

IEHACTR B URIE AT WH® digdid! 7 U= Iy B &1 & forg 39 favg asE el A
1. Mughals 7/ et

2. Nizam forces of Hyderabad / ¥cmare &t A=mer aar

3. Adilshahi force of Bijapur / fiaTqR & 3nfearemér dar

4, East India Company / 3¥c sf3ar due

Correct Answer :-

e Mughals / sgarer

9) The purpose of field work in the teaching of social science is: / IS A3 & Rier & Wies a6
B13LW gl

1. To take note of historical events / UTIelRieh, GEal3 G it Gl
2. To gain direct concrete experiences / Ucdal O SJHAT UTH ehIAT
3. To enjoy the sight seeing / TTGIAA &I TG olell

4. To have more socialization / 37T GHATSIHIOT HIAT

Correct Answer :-

« To gain direct concrete experiences / Ucd&l 3 AT Y18 hIAT

10) The approach that is very useful in organizing the content in history is: / g™ A fawg 'ﬁjﬁ Ca|
AR F3 F e <t edwivr aga Suantt B, 97 2l

1. Concentric approach / Tehigd TTEHIOT
2. Topical approach / HTHATAD TEHIOT
3. Spiral approach / &Tel TTEIOT

4. Chronological approach / EFIFI'I@ZF@?F HECT

Correct Answer :-



« Chronological approach / EFIFI'I@ZF@?F HECT

11) In which year was the battle of ‘Koregaon Bhima’ fought? / ‘Fiafra i ?I?.‘Iﬁ frg ad o 'g!%
42

1. 1718
2. 1818
3.1796

4, 1857

Correct Answer :-

12) strategy in which the government encourages the local production for
domestic consumption to reduce the dependency on imports. /

g8 Wi e SRR IaTa W AsRar ) 7 w9 §g e @99 F Av FuEhT seaee
ieaTied I

1. Export promotion / fFafa Taef=
2. Tariffs / YRJ[e<h
3. Import substitution / 3TITA UTAEATT

4. Quotas / PleT

Correct Answer :-

« Import substitution / 3TATd UfAEATTS

13) NAFED stands for . 1/ NAFED &T areaqd gl

1. National Agricultural Cooperative Management Federation of India Ltd. / Sl Tfldhoadl
priRiea Aaede Hsiee 3w sfar Afdes

2. National Agricultural Cooperative Marketing Federation of India Ltd. / STl THihedlel

I3TIea AT hevrd 3w sfear fafdes

3. National Agricultural and Commerce Management Federation of India Ltd. / ARl TdlhedX TS
AT FAsde BT Hw s fofdes

4. National Agricultural Confederation Management Fund of India Ltd. /

TE Tidhedial BIhad daordic Hs A s3ar s

Correct Answer :-



« National Agricultural Cooperative Marketing Federation of India Ltd. / SATel Tdflhoadl
PITRIeT AR heiea 3w sfEar ofaes

14) Student gathers information or knowledge by forming the association and working in team

is known as: / BTF T FT ST I SATTRRT AT AT FHCST FIA § 3 OF & FF
¢, o0 W T A ST S

1. Problem-based learning / THEAT - TR 31AITH

2. Community-based learning / W-M‘iﬂﬁﬁ 3T

3. Collaborative learning / W'C[U‘f 3iferH

4. Experimental-based learning / U MUTRT 3191

Correct Answer :-

« Collaborative learning / 'H'%TQIIWI'C[USI 3iferH

15) What is the approximate distance between earth and the moon? / ‘I%'cﬁ 3 gga F i
& gft aemsrer et 82

1. 38400 km / 38400 TeRaT.
2. 384000 km / 384000 fepaT.
3. 250000 km / 250000 TepaY.

4. 25000 km / 25000 TR,

Correct Answer :-

« 384000 km / 384000 feraT.

16) When did Nadir Shah invade India? / e Mg & IRT W Fd ITHAT fHar?
1. 1766

2. 1749

3. 1759

4. 1739

Correct Answer :-

e 1739



17) ‘Local Government’ is a subject which falls under list. /
TYRAT TR F Rugaeg g N & g & siaera e 3
1. Concurrent / FHAAT

2. State / 75T

3. Central / éﬁo-al?l
4. Local / TITAT

Correct Answer :-
o State / T

18) Social science as a discipline is a combination of: / f¥870T & w7 # gnfos Rae
& UF HII gl

1. Sociology, culture, evolution, economics / HHTSIRATH, g Q-cglra , ﬁEFR:T, s

2. Anthropology, sociology, culture, history / c-j_lraﬂlo-l, TATSIRMTE, {-i{-f{’fa, '5%'@'\5[
3. History, anthropology, science, psychology / 3fdgrd, F[ﬁﬁﬂ?-f, fr=tTe, A=A

4. History, economics, language, music / s%m:r, 3-T'<’ff‘\’ﬂ1-’>f, HTIT, Foia

Correct Answer :-

« Anthropology, sociology, culture, history / qﬁmm, AT, | wl’a, sfderd

19) In which state of India is Intensive subsistence paddy farming practiced? / R & fra
T # g FaTE & O a7 fr @ y=fag &2

1. Punjab / gaTre
2. Rajasthan / TrsrEara

3. Gujarat / I[RTd
4. West Bengal / U 9Tl

Correct Answer :-

« West Bengal / TR &dTTel



20) Who among the following established the Tattvabodhini Sabha in 1839 at Calcutta (Now
Kolkata)? / &=ifaf@a & @ fraar 1839 & Fdsdl (3T HIARIAN) & degaifd=dl THT HY
FYTIAT 12

1. Devendranath Tagore / gdgaTy &9k

2. Kesab Chandra Sen / &&« g <

3. Ishwarchand Vidyasagar / $R<g foamawR
4. Raja Ram Mohan Roy / T I #Aead AT

Correct Answer :-

+ Devendranath Tagore / SdgaATy &R

21) Who among the following is the proponent of ‘Pragmatism’? / faFifaf@a qa
“SYGERAIE” FT YEATaF HleT g7

1. B.F. Skinner / d1.U%. f@haR
2. Albert Bandura / 3fedc E|§Tf

3. Adam Smith / USH TEHY
4. Soren Kierkegaard / TR H1bTTS

Correct Answer :-

« Soren Kierkegaard / G HIpTTTS

22) Who is the main exponent of concentric approach in curriculum? / 9ISIHHA & FHigd
TREHIT FT q&T yfaueF: FieT 32

1. Crowder / ShIT
2. Skinner / TEheX
3. Bandura / ag‘{r

4. Burner / daX

Correct Answer :-

e Burner / EI?‘IT

23) Who took the initiative to convene the Asian Relations Conference in 1947? /



1947 ¥ vl way FAEs (TR Reew FiEhw) 3AfSa i 1 ggad Faa 2
1. Yugoslavia / ZEMESATIaAT

2. China / Il

3. India / AR

4. Egypt / @&

Correct Answer :-

+ India / ART

24) Ina society the goods produced are distributed among people on the basis of
purchasing power. /

TH AT A 3 avq3t F1 F7 AfFT F IR | ot F fiw Faka fea
ST B

1. Planned / @2t
2. Socialist / GHATSTATET

3. Capitalist / G@iraTar
4. Mixed / TRTAT

Correct Answer :-

« Capitalist / CErﬁT‘-I'Ia

25) For teaching current events in social science, which activity is most suitable? / aASS

faame & adae geanst & Raror & @A Fa @ afRRw Tw@ s
1. Source method / & fafer

2. Play way method / Wel gRT fvg7or fafer

3. Debate / drg-fadrg

4. Lecture method / <ITEITA fafQy

Correct Answer :-

« Debate / de-Taarg



26) FFW stands for ./ UHUESeey (FFW) &I faeqa &7 __ §I
1. Food For Work / € R %

2. Fund Formation Window / %8 W2 fasr

3. Foreign Funds Warehousing / BRel EIER:T PREGEIED|

4. Federation for Financing Weaker sections / $HEIAdT BR w@ﬁw frpT TarTT

Correct Answer :-

« Food For Work / € IR ad

27) is the principal advisor to the Chief Minister on all matters of state policies and
administration. /

s i At sk vaws & walt AEl W AEEEs & o gARER @ B
1. Joint Secretary / Qzl'ﬂ?ﬁ afa

2. Additional Secretary /370X gfa

3. Chief Secretary / &I g

4. Principal Secretary / 9Tl Hid

Correct Answer :-

o Chief Secretary / &I GG

28) is a body consisting of persons registered in the electoral rolls relating to a village
comprised within the area of Panchayat at the village level. /

ww e § e e @ wefta RaEs ammafaat § ofiga safFa afae aa
£, S I TR W 99T F T A MRS g g
1. Gram Panchayat/ JTH garad

2. Gram Sabha/ ATH AT
3. Block Panchayat/ €ciidd TaTdd
4. Tehsil/ dgdTe

Correct Answer :-

o Gram Sabha/ ATH AT



29) is a programme which has been renamed as Nutritional Support to Primary
Education.

/ TH Ao g, O wafas Raw & v Owor g8 ar & & F a9 3w
gl

1. Health and Nutrition to Rural Poor / TTSTOT II¢El I FTareeg 3R vy
2. Mid-Day Meal Programme / F#EITE HIST Irotell

3. Special Nutrition Programme / faI¥ QW07 J1Stat

4. Nutritional Facility to Children / I<di &l QIYOT &Y gﬁ[‘iﬂ

Correct Answer :-

« Mid-Day Meal Programme / #EITE STl JTotell

30) moved by Pandit Nehru, provided the underlying principles based on which the
Constituent Assembly completed the task of framing the Constitution. / 9f3d JAew
gaRT gEdTad fFar a3 o, o siafifea Rgural # vaer fFan S w@fausr wom &
U A RN F T FF QR 3FF MR 9T AT

1. Executive Direction / SIRIGRI A6
2. Orders / 3TTGRT

3. Guidelines / f&RmT-fAder

4. Objective Resolution / 38T Hheq

Correct Answer :-

« Objective Resolution / 38T Hhed

31) is held when there are more than two candidates, and none of the candidates
secures an absolute majority. /

a9 ST gar § 99 & & 3% 3FAlGaR g € 3 Fi§ ot sFigar b
agAd e g T &

1. Second Ballot / f§iT #FAUT (FwUs dole)

2. Third Ballot / Jirdl #AAUT (TS delc)
3. Preferential Voting / JITAATA Fdg

4. Open Ballot / eIl AAUA (3T doic)



Correct Answer :-

« Second Ballot / fgdiT Adua (Fdvs dere)

32) Commission enquired into several aspects of allegations of abuse of authority,
excesses and malpractices committed at the time of emergency. /

AT F TR F GRE HAFR, SAEd R gafae & IRt & FF gget
$Y FTT |

1. U.C. Banerjee Commission / €. AT 3TIT
2. Kothari Commission / &SR 3TIET
3. Phukan Commission / Db 3T

4. Justice J. C. Shah / o . HI. oM
Correct Answer :-

. Justice J. C. Shah / =ITFefd 1. &I A

33) Under whose reign was Upanishads translated from Sanskrit to Persian? / fas e &
3ufawel 1 @Fpa @ BRAT F eqare Far w=w ar?

1. Jahangir / STgRiR
2. Aurangzeb / AReeE
3. Shah Jahan / Qmgstel

4. Akbar / ¥R

Correct Answer :-

« Shah Jahan / Qrgsef

34) The Minimum Support Price was introduced in India in the year .
eTaH §AYT Heg ARa A a¥ _ F e fFam www am

1. 1964

2. 1954

3. 1974

4, 1984



Correct Answer :-

e 1964

35) The theory of experiential learning was introduced by: / W& AT &1 fAguia s
Sa@RT ger fFar arar o

1. Carl Rogers / Flel Ao
2. Tolman / Tieldd
3. David Kolb / Sfds &led
4. Bandura / dogd0l

Correct Answer :-

« David Kolb / 3Td% opled

36) The most striking quality that a social science teacher needs to acquire is: / T HIHATSS

e Rre # affafed F@ & AT g9 Agcaqet qor =0 82

1. Frequently conducting weekly tests and assignments / facd dTdTed ULI&TOT 3R 3BT
AT BT

2. A feeling of developing democratic citizen§hip / ollehclITAeh ARl TdB AT P dhr
HTIAT|

3. Conducting extra classes during holidays / gﬁii\aai & a1 ATAR® HET TSI HLAT|

4. Control the students and maintain strict discipline / orEl o AafRd wer 3R a&d
IMAHA JATT IGAT|

Correct Answer :-

« A feeling of developing democratic citizenship / ShdliAh AWTREBAT [dRTAT XA Pl
HATIAT|

37) The Reserve Bank of India was nationalized in the year ./
R Rad dF &1 usdgetor af & fFar T am

1. 1960

2. 1950

3. 1949



4. 1951

Correct Answer :-

e 1949
38) The Constitution of India vests executive power of the Union formally in the ./
HRT &1 Flaem= # itvae ¥ ¥ ¥ N FEFER 9T F AT Far

1. President / ITgOTA
2. Prime Minister / TTTHAT
3. Cabinet / AFHAS

4. Council of Minister / #AY IRug

Correct Answer :-

o President / TgUfd

39) Teachers encourage divergent thinking and allow students the freedom to ask their own
questions and to learn the effective strategies for discovering the answer. This method of

learningknownas:/ﬁﬁmﬁmﬂmm%ﬁkmﬁmmﬁw
3R I A @9 F AT g WEfAERS W@ Y Faaaar & &1 e i a7 A
el

1. Problem-based learning / FHEAT-3TATRA 31fA913T
2. Technology-based learning / WAAhT-3maTRa 31791
3. Inquiry-based learning / 3=dWoT-3TaTRA Q9T
4. Activity-based learning / ITATATA-3MaTRA J{AITH

Correct Answer :-

« Inquiry-based learning / FH=dWOT-3TUTRT HATH

40) Defining the problem, analysis of the problem, collection of data, interpretation of data,
testing hypothesis and making generalization are the procedures in: / GHEIT FHT TR

FAT, GHAEAT FT fI2ANOT, 32T T TG, 3T T A&, IRFeTAT FT GHET0T FT 3T
AATNHIOT FEAT e & sRAvonfaar §: -

1. Steps in discussion / Rt 3 @R



2. Problem solving / HHEIT AT
3. Project method / URASTT (Wiotere) fafer

4. Supervised study plans / TIATRIT CTTT TIoTel

Correct Answer :-

« Problem solving / HHAEIT HATUT

41) Which is the earliest script found in India? / HRT & 91§ I arell FaH dgell AT i
@ &

1. Aramaic / 3RTHP
2. Kharosthi / @SS
3. Greek /

4. Brahmi / SIT&l

Correct Answer :-

o Brahmi/ Eﬂgﬁ

42) Which of the activity is not included injinquiry-based learning? / sla-dt afafafer sr=avor
amaRe f¥ere &7 anfAe w1dt 87

1. Written assignment / foIf&d 3raEasic
2. Field work / $Tes ab

3. Case studies / b FI

4. Group project / HIHE gAYt

Correct Answer :-

« Written assignment / fof&@d 3@

43) Which of the following British Acts led to countrywide mass protest in India? / Rfaf@a &
¥ fFa Rfeyr sfafaas § FrRor sRa # Sereard wngfes R fear r?

1. The Press Act 1910 AD / U9 3ifIfSgw 1910 STt

2. Rowlatt Act 1919 AD / de wae 1919 $Hdr



3. Multifanged Defense of Indian Rules 1915 AD / #Rchg fa@#r 1915 $wdr 1 aguahy am

4. Indian Criminal Law Amendment Act 1908 AD / #ARART 3TOAS Hieqd dMyT fAfagar 1908
sqar

Correct Answer :-

« Rowlatt Act 1919 AD / o€ Tae 1919 &t

44) Which ruler of medieval India was credited for construction of Grand Trunk Road? / 3is

& Us & AT &1 A7 AegwelT dRdT & fFg aas & fGar = ar?
1. Aurangzeb / 3RTaa

2. Babur / IR

3. Sher Shah / X-2AE

4. Akbar / 3HheR

Correct Answer :-

o Sher Shah / 9R-eME

45) Which ruler authorized British East India Company to trade with the East? / & s o
fafeer S 33 ol # S & w1y SR F36 #F AT sftea Far?

1. Elizabeth I / uforemeay [
2. Elizabeth I / tfoamea 11
3. Elizabeth III / ©foamay 111

4, Elizabeth IV / tfoem@y IV

Correct Answer :-

« Elizabeth I / tfoamy [

46) Which among the financial institutions prescribed Liberalisation, Privatisation and
Globalisation model as part of stabilization and structural adjustment mechanism during 1991?
/

1991 & R 37 AT FvyEt & F fhasr g, Asietor it dediesor yfase &t
it IR TEATcHE ARSI 99 & BE & & F AuiRa e §

1. International Monetary Fund and World Bank. / 3fRTSIT T ®1¥ 3R fay d&



2. International Monetary Fund and Asian Development Bank. / m@’q Hal Ay 3R ol
faepre da

3. International Bank for Reconstruction and Development and World Trade Organisation. / 3cRITERI
gt 3R fera do 3R fau @R gered

4. World Bank and Asian Infrastructure Investment Bank. / {01 & 3R ("f‘\ﬁ'zl'lé ShIECFU
gAa¥cHT dh
Correct Answer :-

« International Monetary Fund and World Bank. / aa?‘rghaw DY 3R fay dF

47) Which among the following skills is not essential for a social science teacher? / freafaf@a
# ¥ Fia W shra g e & s Qe & e sfaas ad

1. Drawing, explaining, revising, reviewing / 3RGUT, TTEAT AT, G AT, GHIET HIAl

2. Questioning, eye to eye contact with students, reciting / U5 &, SEAT & 3@l BT Uk
JATAT, TUTA BT

3. Precision, computation, measurement / uﬁ?gaal,mmm,mcr

4. Voice modulation, eliciting responses, elaborating / 3TdTlST FT'&?{@T?IFL ufafehare arg &,
TET Pl

Correct Answer :-
« Precision, computation, measurement / Uﬁ?!@(—ll,w,m

48) Which type of help and assistance is required for a student who is extraordinary brilliant in

the school? / fagaTerT # wa rWTURCr yfAsmemel a1 & v Fy R $if g« iR
AN Y MIIFAT Fielt 872

1. Gifted classroom environment / UTIHIRITSIT &Il <hl FI'@FT

2. Providing him enriched environment / 38 g dIdTdI0T YcTel hlel
3. Provision for special education / TI9 fRU&Ir &1 graere
4. Providing additional assignments / 3TdR<h B USTd Al

Correct Answer :-

« Gifted classroom environment / UTAHTRITSN HeIT <pl EFI'Iﬁ?—T



49) Which type of weathering agent/process is more active in a limestone area? /
e R &7 3veT, FASNHEIT vF T 9RR 8T F aftE wfFa far g2
1. Insolation / 3TdUe

2. Vegetation / &gt

3. Frost/ quik (1¥c)
4. Carbonation / ShTETIEIRIUT (HTaTI)

Correct Answer :-

« Carbonation / TATACIRIUT (HTaTIL)

50) An example for formative evaluation is: / 3taaTR® H\?ﬂ'ﬁb_rl' T 3GTEY0T &I
1. Monthly test / HIT&h T&OT

2. Practical test / W3R GI&TOT

3. Teacher made test / RI&Th gRT TLI&TOT

4. Rating scale / IfEaT Tl

Correct Answer :-

« Monthly test / HIT&h TJI&TOT

51) Where is the Ibadatkhana, the place built by Akbar for learned men from all religions were
called for discussion, situated? / 3FaX TART TAT IAT TA “gaGaEET, J@1 T sfadl & Rgam
# Tat & fw gomar e a1, Fa §?

1. Fatehpur Sikri / %aeq? &l
2. Lal Qila / @rer forem
3. Sikandara Fort / e foverm

4. Agra Fort / 3TORT &1 kTl

Correct Answer :-

« Fatehpur Sikri / Baegqe fd

52) Chitrasutra of Vishnudharmottara Purana documents the following cave paintings: /
frsoresfar. quor & Rewge & @ e e & e @



1. Elephanta Cave / Teitthel ar
2. Nasik Cave / a8 w1
3. Ajanta Cave / 37sicl I[%r

4. Bhaja Cave / 87T %1

Correct Answer :-
+ Ajanta Cave / 3fsidl [T

53) Which of the following is also known as Microlithic period? / Awfaf@a # &
TN Fer F T A M e Frar 22

1. Neolithic / daUruToT Hrel
2. Paleolithic / grumoT Bret
3. Chalcolithic / drergar

4. Mesolithic / &% ummoT

Correct Answer :-

« Mesolithic / #€g gruroT

54) Who hoisted the national flag at Gowalia TanksMaidan in Mumbai during ‘Quit India
Movement’? / ‘TR 13 AEree’ & R Ha§ & Marforar &F Aqer # Fraer T8 easr wgam ar?

1. Jawaharlal Nehru / SO Jg&
2. Aruna Asaf Ali/ 3150 3T8% 3ol
3. Mahatma Gandhi / #grcaT e

4. Sarojini Naidu / @03 a3
Correct Answer :-

« Aruna Asaf Ali/31%0T 3E® 37l

55) Lines connecting places having the same barometric pressure is . A RARE
gdTd Tl T HT SIS grell IWTT gt &1

1. Isoheight / @a&ars Y@T (3MEAERES)
2. Isohyet/ Taraut @1 (3MsdRT)



3. Isobar / HHAR 3@ (TSEER)
4. Isotherms / TIAATT-3ET (3TSTTUA)

Correct Answer :-

o Isobar /¥FUR 3@ (ABAER)

56) Which of the following mountain ranges forms the longest mountain chain in the world?
| rfaf@a # @ Fi9 @ oda Huen faeg A ga@ @&t wdq AEer 2

1. The Rockies of North America / 3a%X 3HR®I & bl

2. The Andes of South America / f&T0T 3AR®T & VU

3. The Great Dividing Range of Australia / 3iTe¢Torar &1 J¢ [assie gddeTen

4. The Transantarctic Range / UR-3icThied TddaTel

Correct Answer :-

« The Andes of South America / &T&T0T 3THANAT & VUSIS]

57) What is Chernozem? / Iaiold T g2

1. Lateritic soil / eleTSC FHaT
2. Red and yellow Soil / @Tel 3R drell Fer

3. Deltaic alluvial soil / SeeT SToll G J]cl
4. Black Soil / Tell aT

Correct Answer :-

« Black Soil / &Tell T

58) The Jhamarkotra mines of Rajasthan are best known for which among the following
minerals? /

T Y SARAET TET d Arafa@d @faer & @ fFad Qv 3f@0F s sar @2
1. Rock Phosphate / Jfdh HIEHC
2. Lime Stone / eIl UcAX

3. Zinc / STE&EAT



4. Mica / HP

Correct Answer :-

« Rock Phosphate / Iieh TTEHT

59) The word “El Niiio” comes from which among the following languages? /
“gd A= e fArafaf@a & & Fa s @ o o= @2

1. French / %hd

2. Arabic / 3T

3. Spanish / TAfALT

4. Portuguese / g?—h'l'l?vﬁ

Correct Answer :-

« Spanish / Tufaer

60) Vikramshila Gangetic Dolphin Sanctuary is located in which among the foliowing states of
India? /

faspafRra i Sife IHIRYY, HRd & FrafafEe J Sife s A fRm 82
1. Bihar / feR
2. West Bengal / U1 qaTTel

3. Assam / JdH

4. Uttar Pradesh / SR TS

Correct Answer :-

« Bihar / ¥&R



